N IVST DTS5 T6803

HOLD DOWN TOGGLE CLAMPS 6803

Eron’ AMEQD)

No.E-9478

S5400 FEEAWF
TSI T AT 21—

(]
i e
fg A
N
2 [~
g 7
Z ° W
a1 }T,// /7
= 17/ e
‘[f & /// //'/ e
G >
L
S Ta |
®D & 3
& ol
_|v ‘
Le Le .
=t
1M E_|F
C B N
K
L EeES
No. A B C D E  F G H i1l _J K L:iMiN O O P
6803-1 | 5 34 20. 45 19 . 8 14 47 10 55:30 30 : 5 17 105 - . 5~10
68032 | 6 | 40 255:55 25 9 20 6212 6 38 32: 5 25105 60° @ 2~11
68033 | 8 1 65 285 65 43 11 24 73 18 | 7 43 38 6 31 105" 60°  6~18
HAM TR BENEECEET,
L w5 i ES * [ZEIEER
REZIKN RILNEXE Y FX - -
ZF—5"—No. No. =l & EcGrE) 2RXEE BESkg A%
* 992326 6803-1 0.8 1.1 M5x0.8 X30 60x132 0.13 7,300
* 992327 6803-2 1 1.2 C M6X1.0 X35 78x180 0.22 9,100
* 992328 6803-3 1.4 2.5 M8X1.25%40 ©  112x243 0.4 9,750
WERsI
" . ~ SINCE 1560
522 CADF—999y0—K « HERAIE Web 51 hT! [ 7T \ NABEYA co, L.
o FriendsNo.219/2021.112ERE




55400 FHEAWF
ISV T AT 21—

OZ2UN—ZRSFIFNFBRIECTRVESEICZHTSY
FIDTRERIE RIEREBAFE T

P
N
AT
| i/
mw
s
_l?_ /%/ // /g/// ///
Silve
- I:E e
[ R1 Rzé g
(1] 0 &)
T I -
cl
- e
B N
LR
No. A ‘B C D E F G H I J K L M N O P  Q
6803S-2 6 42 26055 25 9 20 62 12 6 38 32 5 2536 105 -3~ 6
68035-3 8 65 290 6543 11 24 7318 7 43 38 : 6 i 3142 105 6~18
68035-4 10 £ 83 :320:85 50 17 32 :104 20 10 52 96 8 : 40 : 62 (105" 11~40
W%k g = * IBEEER
RN RILMEXE Y Fx - -
Z—5"—No. No. R1 o Ec @B 2RXEH kg i
% 992329 6803S-2 1.0 1.2 M5x0.8 X35 78%180 0.25 14,700
* 992330 68035-3 1.4 25  M8X1.25X45 . 112x243 0.54 16,400
* 992331 68035-4 2.0 3.0 M8X1.25X65 140%280 0.75 19,400
nsER—-y
ISIEVTT— 1 |77/t’/727u:— YR—F 4T T— L )74 VIR — 7’uﬂ“xaul— |5/\“—=F1v‘y7°6893
TIIRFT>2376896 6895 6892
[ P.545 » | [ P.546 » | [ P.548 » | [ P.549 » |
SINCE 1560

EVA co,um. CADF—99'9v0O—F « EERRIE Web 91 hT! [ 7T \

FriendsNo.219/2021. 1 1ERE

T THYNUIN

523





